

$$\begin{aligned}
 (1) \quad & \begin{vmatrix} 1 & 0 & 3 & -2 \\ 2 & -2 & 1 & 1 \\ 1 & 1 & 4 & 0 \\ 1 & -1 & 2 & 4 \end{vmatrix} = (-1)^{1+1} \cdot 1 \cdot \begin{vmatrix} -2 & 1 & 1 \\ 1 & 4 & 0 \\ -1 & 2 & 4 \end{vmatrix} + (-1)^{1+3} \cdot 3 \cdot \begin{vmatrix} 2 & -2 & 1 \\ 1 & 1 & 0 \\ 1 & -1 & 4 \end{vmatrix} + (-1)^{1+4} \cdot (-2) \cdot \begin{vmatrix} 2 & -2 & 1 \\ 1 & 1 & 4 \\ 1 & -1 & 2 \end{vmatrix} \\
 & = (-32 + 2 - (-4 + 4)) + 3 \cdot (\cancel{2} - 1 - (1 - \cancel{8})) + 2 \cdot (\cancel{4} - 1 - \cancel{2} - (1 - \cancel{2} - 4)) \\
 & = -30 + 3 \cdot 4 + 2 \cdot 6 = \underline{24}
 \end{aligned}$$

$$(2) \quad \sum_{n=0}^{\infty} \frac{2n+n^2}{n^3+2} \quad \text{LSE} \quad s \quad b_n = \frac{n^2}{n^3} = \frac{1}{n} \quad \sum \frac{1}{n} \text{ D}$$

$$\lim_{n \rightarrow \infty} \frac{a_n}{b_n} = \lim_{n \rightarrow \infty} \frac{2n+n^2}{n^3+2} \cdot \frac{n^3}{n^2} = \lim_{n \rightarrow \infty} \frac{\frac{2}{n} + 1}{1 + \frac{2}{n^3}} = 1 \in (0, \infty)$$

$\geq \text{LSE} \quad \underline{\underline{\sum a_n \text{ D}}}$

$$(3) \quad \int \sin(x+1) + \frac{x^2}{x^2+1} dx = \int \sin(x+1) + 1 + \frac{-1}{x^2+1} dx$$

$$\underline{\underline{= -\cos(x+1) + x - \arctan x + C}}$$

$x \in \mathbb{R}$

$$(1) \begin{vmatrix} 1 & 0 & 3 & -2 \\ 1 & -1 & 1 & 1 \\ 1 & 1 & 4 & 0 \\ 1 & -1 & 2 & 4 \end{vmatrix} \sim \begin{vmatrix} 1 & 0 & 3 & -2 \\ 0 & -1 & 1 & 1 \\ 2 & 1 & 4 & 0 \\ 0 & -1 & 2 & 4 \end{vmatrix} = (-1)^{1+1} \cdot 1 \cdot \begin{vmatrix} -1 & 1 & 1 \\ 1 & 4 & 0 \\ -1 & 2 & 4 \end{vmatrix} + (-1)^{2+1} \cdot 2 \cdot \begin{vmatrix} 0 & 3 & -2 \\ -1 & 1 & 1 \\ -1 & 2 & 4 \end{vmatrix}$$

$$= \left( -16 + 2 - (-4 + 4) \right) + 2 \left( -3 + 4 - (2 - 12) \right) = \underline{\underline{8}}$$

$$(2) \sum_{n=1}^{\infty} \frac{h^2}{h^4 + 2h} \quad \text{LSE: } sb_u = \frac{h^2}{h^4} = \frac{1}{h^2} \quad \sum \frac{1}{h^2} \ell$$

$a_n > 0$

$$\lim_{h \rightarrow \infty} \frac{a_n}{b_n} = \lim_{h \rightarrow \infty} \frac{h^2 \cdot 1}{h^4 \left(1 + \frac{2}{h^3}\right)} \cdot \frac{h^4}{h^2} = 1 \in (0, \infty) \Rightarrow \underline{\underline{\sum a_n \ell}}$$

$$(3) \int \cos(x+1) + \frac{2+x^2}{x^2+1} dx = \int \cos(x+1) + 1 + \frac{1}{1+x^2} dx$$

$$\leq \underline{\underline{\sin(x+1) + x + \arctan x}}$$

$x \in \mathbb{R}$